$contrl scftyp=rhf mplevl=0 runtyp=makefp  maxit=50 $end

 $system mwords=55  timlim=999999.0 $end

 $basis  gbasis=N31 NGAUSS=6  NDFUNC=1 NPFUNC=1  $end

 $SCF DIRSCF=.T. $END

 $STATPT NSTEP=200 opttol=0.0001 $END

 $data

 glycine: MAKEFP

 C1

 C1          6.0   1.1051276310   -.0561743247    .0842868065

 O2          8.0   2.1613089492   -.7945125469   -.0939731157

 H3          1.0   2.9854530609   -.2872143006   -.1645823058

 O4          8.0   1.1245386573   1.1454640958    .1566666966

 C5          6.0   -.1542703512   -.8969354115    .1824053850

 H6          1.0   -.2186331787  -1.4676445797   -.7383371001

 H7          1.0    .0097848506  -1.6201880773    .9738163865

 N8          7.0  -1.3863045760   -.1878157278    .4077975108

 H9          1.0  -1.3735998770    .3254234062   1.2685494935

 H10         1.0  -1.5813155145    .4668669455   -.3257321856

 $END

